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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1(a)(i) 809 1.4 0.7 2 70.5 99.8
1(a)(ii) 784 1.2 0.9 2 61 96.7
1(b)(i) 802 1.1 0.8 2 57.4 98.9
1(b)(ii) 791 1.8 1.1 4 44.9 97.5

1(c) 804 4.2 2.1 8 52.4 99.1
1(d) 799 5.3 2 10 52.7 98.5

1(e)(i) 783 1.4 0.9 2 69.7 96.5
1(e)(ii) 798 5.6 2.2 10 55.6 98.4

2(a) 790 1.9 1.5 4 48.3 97.4
2(b) 798 2.8 1.3 6 46.7 98.4
2(c) 797 3.8 1.6 6 62.9 98.3
2(d) 774 5 2.9 12 41.3 95.4
2(e) 798 6 2.5 12 49.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q1 (c) Discuss whether roads are a good example of a public good. [8] 


Band 
AO1 AO3 AO4 


2 marks 2 marks 4 marks 


 
Does the candidate 
demonstrate a good 


understanding of public 
goods? 


Are there logical 
arguments that roads 
should be considered 


as public goods? 


Has economic theory 
been used to evaluate 


the question 
effectively? 


2 


2 marks 
Good understanding is 
demonstrated 


2 marks 
Good analysis 


3-4 marks 
Good evaluation 
 
More than one 
evaluative point is NOT 
absolutely necessary 
for top band AO4 but a 
range of evaluative 
points should certainly 
be credited where 
appropriate 


1 1 mark 
Limited understanding 


1 mark 
Limited analysis 


1-2 marks 
Limited evaluation 


0 
0 marks 


No understanding or 
incorrect 
understanding 


0 marks 
No analysis or 
incorrect analysis 


0 marks 
No evaluation or 
incorrect evaluation 


 
Indicative content: 
 
AO1 
 
Limited understanding can be shown by identification that public goods have two main 
characteristics:  non-rival and non-excludable.  Also accept non-rejectable and non-
diminishable.  
 
Understanding can be shown by knowledge of the free-rider problem and good explanation 
of what the free-rider problem is and how/when it occurs and how it leads to market failure. 
 
AO3 
 
Given the understanding shown in AO1, does the candidate develop his/her understanding 
to analyse the situation with regard to roads? 
 
For example, roads are non-excludable in the sense that everyone can drive on a road 
without (generally) paying for access to use it.  Similarly, roads are non-rival in the sense 
that lots of people can use the road simultaneously and that one person’s road usage does 
not affect someone else’s. 
 
Or, roads can lead to a free-rider problem and market failure since people can drive on 
roads without the need to pay for it.  However, if no-one was to pay for the use of a road 
then there would be no funding for the construction of roads in the future and roads would 
not be provided for by the market. 
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AO4 


Possible lines of evaluation include: 


Roads may not be considered non-excludable if you consider toll roads such the Severn 
Crossings where you are paying for access to use that price road.  Or, the fact that drivers in 
the UK pay road tax could, essentially, be construed as an effective price for using roads. 


Roads may not be considered non-rival in the sense that, if lots of people are using the road, 
traffic congestion can arise and then one person’s usage clearly does affect other road 
users’ usage. 


Different types of roads act differently.  Motorways, for example, are definitely excludable (in 
the form of road tolls) but country lanes are less easy and it is difficult to enforce road pricing 
here. 


Roads are rejectable.  People are not forced to consume roads in the same way that they 
are forced to consume flood defences or nuclear defence systems.  


NB:  Points such as the regressive nature of tolls or Government spending MUST be linked 
to the issue of traffic congestion in order to gain credit. 












Q1(c)  


 


  



Sticky Note

This answer scores 8.

The candidate demonstrates a clear understanding of a public good.  She/he then goes on to analyse why roads to fit the criteria of non-excludability and non-rivalry.  The answer is heavily contextualised to roads.  [AO1/3-4]

The evaluation is of an excellent standard.  In this case, the candidate offers the evaluation immediately after the analysis paragraph which is helpful and should be encouraged.  Again, the evaluation is in the context of roads and it is also quite nuanced - it doesn't say "on the other hand, roads are not public good", it offers a more sized argument which, again, should be encouraged.  [AO4-4]
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Sticky Note

This answer scores 6.

The candidate demonstrates a clear understanding of a public good.  She/he then goes on to analyse why roads do fit the criteria of non-excludability and non-rivalry.  The answer is heavily contextualised to roads.  [AO1/3-4]

The evaluation only scores 2 marks.  It only really considers one line argument ("traffic can lead to congestion" which is linked to diminishability).  The evaluation is developed but the overall AO4 attempt is limited in its range.  [AO4-2]

There is a lot of extraneous information in this answer which is not credited.  The idea that "most public goods are merit goods" may be true but is not relevant to this question.  The evaluation that roads "cause negative externalities" again is correct but not relevant to this question.












Q1(c) 



Sticky Note

This answer scores 1.

The candidate identifies some characteristics of public goods (non-excludable, non-rival, free-rider, etc) but does not expand on them.  Indeed, the next part of the paragraph demonstrates some confusion with the term 'public good'.  Therefore, AO1/3 is considered limited.  [AO1/3-1]

The evaluation does not gain any credit.  Whilst toll roads could be used as an evaluation of the excludability of roads, it is not being used like that in this case.  The candidate is still confused by the term 'public good' and is linking his/her evaluation to the idea of public funding rather than the concept of market failure.  [AO4-0]
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Extract 1


The Severn Crossings is a term used to refer to the two motorway bridges over the River 
Severn estuary between England and Wales. The two crossings are:


	 •	 The Severn Bridge – built in 1966
	 •	 The Second Severn Crossing (Renamed The Prince of Wales Bridge
		  in 2018) – built in 1996


The two Severn Crossings are regarded as the main crossing points from England into 
South Wales. Over 25 million car journeys are made over the two bridges per year.


Since their completion, motorists 
have paid tolls on the crossings. 


In 2017, the toll price was £6.70.  
This toll represented 19% of the 
typical cost of a motorist driving 
from Bristol to Cardiff in 2017.  
In 1966, however, the toll price 
was just 12.5p (or £2.14 in 2017 
prices).  


A toll road is a road for which 
a charge (or toll) is paid for 
usage. It is a form of road 
pricing typically implemented 
to help recover the cost of 
road construction and maintenance. In many cases, tolls are also used to reduce traffic 
congestion – for example, the London Congestion Charge. Increasing traffic congestion 
on city roads presents a serious threat to economic growth. A recent Government study 
concluded, however, that investing in public transport was more effective than road tolls at 
decreasing traffic congestion in the UK.


Extract 2


In July 2017 it was announced that road tolls on the Severn Crossings were to be removed 
for all vehicles at the end of 2018.  


The Welsh Secretary, Alun Cairns, said the move would boost the economy of South 
Wales by around £100m a year. He said: “the decision to remove the Severn tolls next 
year sends a powerful message to businesses, commuters and tourists alike that the UK 
government is committed to strengthening the Welsh economy.  


I want to ensure that visitors and private investors know what Wales has to offer socially, 
culturally and economically. Most importantly, I want the world to know how accessible we 
are to business.”  
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Answer all the questions.
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Q1 (e) (ii) To what extent will the removal of tolls on the Severn crossings 
affect the level of consumption and private investment in Wales? [10] 


Band 
AO2 AO2 AO3 AO4 


2 marks 2 marks 2 marks 4 marks 


 


Good 
understanding 


of 
consumption 


and 
investment 


Is the answer set 
in context? 


Answer fully 
explains how 


the removal of 
tolls can 
increase 


consumption 
and investment.   


Has economic 
theory been used 


to evaluate the 
arguments made 


in AO3? 


2 


2 marks 
Good 
understanding 
of both 
consumption 
and 
investment 
 
Explicit or 
implicit 


2 marks 
Good application 
 
Clear reference 
to the data 
 
Relevant content 
from the data is 
used to develop 
and support their 
argument 


2 marks 
Good analysis 
 
For top band 
AO3 there is a 
requirement for 
candidates to 
consider BOTH 
objectives 


3-4 marks 
Good evaluation 
 
More than one 
evaluative point 
is NOT absolutely 
necessary for top 
band AO4 but a 
range of 
evaluative points 
should certainly 
be credited 
where 
appropriate 


1 


1 mark 
Limited 
understanding 
 
Or only one 
considered 


1 mark 
Limited 
application 


1 mark 
Limited analysis 
or only one 
objective 
considered 


1-2 marks 
Limited 
evaluation 
 
Throwaway 
evaluation 


0 
0 marks 


No 
understanding 


0 marks 
Answer not in 
context 


0 marks 
No or incorrect 
analysis 


0 marks 
No valid 
evaluation 
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Indicative content: 
 
AO1 
 
Consumption is the expenditure of goods and services by domestic (Welsh) citizens.  
Private investment is the expenditure on capital goods by private firms. 
 
AO3 
 
Consumption:  Welsh citizens are likely to see an increase in income as a result of the 
removal of road tolls.  We are told that there is likely to be an increase in tourism and 
economic activity which means (potentially) more exports and a greater possibility of Welsh 
citizens getting jobs either in Wales, or across the border.  This increase in income should 
then result in an increase in consumption ceteris paribus. 
 
Private investment: Businesses will be attracted to Wales because the costs of doing 
business, such as transportation costs, will be greatly reduced.  Therefore, entrepreneurs 
(who are attracted by lower production costs and the prospect of higher profits) will be more 
likely to invest. 
 
AO4 
 
Consumption: Not all UK residents are from Wales and, therefore, technically, English 
people buying more things in Wales should be considered a (Welsh) export rather than 
consumption. 
 
Similarly, if more Welsh people buy more goods and services from England then this could 
be considered an import and not part of consumption (C-M). 
 
£6.70 is not an enormous price and therefore, one wonders whether it will really make a 
large difference to the amount of economic activity in Wales. POINT COULD BE USED FOR 
INVESTMENT TOO (although not creditable for both). 
 
Investment: 
 
Although it is now cheaper to do business in Wales, there are other obstacles such as 
structural unemployment which restricts the level of investment from rising by very much. 
 
The increase in investment might only be limited to small regional areas which are close to 
the border, such as Cardiff.  It is less likely that rural areas and coastal areas will see as 
much benefit. 
 
The figure given in the text is £100m per year.  Firstly, this is a relatively small figure (the 
GVA for Cardiff is £9.4bn) and, secondly, there is no source for this data – it could be a 
gross over-estimate and the real figure could actually be much smaller. 
 
Use of data (AO2) 
 
Any appropriate use of data or own knowledge can be credited here. 
  












Q1(e)(ii) 



Sticky Note

This answer scores 10.

The candidate successfully analyses the impact on both consumption and investment.  Consumption is explained well ("more disposable income", "increased levels of tourism") and investment too ("transport costs have fallen" and "it's easier to expand operations into England").  [AO1/3-4]

The evaluation is of an excellent standard.  Each line of analysis is evaluation which demonstrates a range of points: in this case, the candidate offers the evaluation immediately after the analysis paragraph which is helpful and should be encouraged.  The evaluation is also well developed and also heavily contextualised which always helps to move the AO4 scores into the top band.  [AO4-4]

The answer is heavily contextualised.  There are references to working over the border in England, tourism into Wales and the significance of the exact pricing change (not just "it depends on the size of the toll").  [AO2-2]
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Sticky Note

This answer scores 9.

The candidate successfully analyses the impact on both consumption and investment.  Consumption is explained well ("more disposable income", "increased levels of tourism") and increased levels of tourism") and investment too ("transport costs have fallen", "multiplier effect" and "increase in purchase of raw materials from Wales").  [AO1/3-4]

For evaluation, the candidate offers three lines of argument: "it depends on the MC", "it depends on how many people are using the crossing", "it depends on how attractive Wales is to tourists (?)".  On the one hand, the range of ideas should be credited - especially as they are within the context of the question; on the other hand, the evaluation could be improved by being more specific about some of these issues.  For example, the data says exactly how many people use the crossing and the candidate could offer an educated guess about the likely MPC in the UK (given the economic uncertainty of Brexit) and the likely attractiveness of Wales to tourism.  As a result, the evaluation was not considered to be excellent.  [AO4-3]

The answer is heavily contextualised.  There are references to commuting into Wales from England for work, tourism into Wales, and the exact increases to national income that is expected of the toll removal.  [AO2-2]
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Sticky Note

This answer scores 3.

The first sentence makes the assertion that "removing tolls increases international competitiveness [and] Wales might see more FDI".  This is a good example of assertion which is not supported by any chain of reasoning.  Candidates should be encouraged to justify assertion points that they make.  This will help to build analysis marks.  Limited.

The evaluation offered after ("it depends on other factors, such as wages" and "Wales doesn't have any other advantages apart from the bridges"), again, is an assertion.  This answer could be much improved if the candidate explained the justification for these points rather than leaving them as throwaway sentences.  Limited.

The final section on consumption is a repeat of the first half; too much assertion and not enough explanation of why.  The evaluation is not linked to the question.  Limited.

Overall:  AO2 - 2, AO4 - 1.

The candidate has not attempted to make this a contextualised answer.  [AO2 - 0]
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Extract 1


The Severn Crossings is a term used to refer to the two motorway bridges over the River 
Severn estuary between England and Wales. The two crossings are:


	 •	 The Severn Bridge – built in 1966
	 •	 The Second Severn Crossing (Renamed The Prince of Wales Bridge
		  in 2018) – built in 1996


The two Severn Crossings are regarded as the main crossing points from England into 
South Wales. Over 25 million car journeys are made over the two bridges per year.


Since their completion, motorists 
have paid tolls on the crossings. 


In 2017, the toll price was £6.70.  
This toll represented 19% of the 
typical cost of a motorist driving 
from Bristol to Cardiff in 2017.  
In 1966, however, the toll price 
was just 12.5p (or £2.14 in 2017 
prices).  


A toll road is a road for which 
a charge (or toll) is paid for 
usage. It is a form of road 
pricing typically implemented 
to help recover the cost of 
road construction and maintenance. In many cases, tolls are also used to reduce traffic 
congestion – for example, the London Congestion Charge. Increasing traffic congestion 
on city roads presents a serious threat to economic growth. A recent Government study 
concluded, however, that investing in public transport was more effective than road tolls at 
decreasing traffic congestion in the UK.


Extract 2


In July 2017 it was announced that road tolls on the Severn Crossings were to be removed 
for all vehicles at the end of 2018.  


The Welsh Secretary, Alun Cairns, said the move would boost the economy of South 
Wales by around £100m a year. He said: “the decision to remove the Severn tolls next 
year sends a powerful message to businesses, commuters and tourists alike that the UK 
government is committed to strengthening the Welsh economy.  


I want to ensure that visitors and private investors know what Wales has to offer socially, 
culturally and economically. Most importantly, I want the world to know how accessible we 
are to business.”  
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	 (a)	 (i) 	 Outline what is meant by the phrase “in 2017 prices”. (lines 15 and 16)	 [2]


		  (ii) 	 Calculate the 2017 toll price of £6.70 in 1966 prices. Give your answer to the nearest 
whole penny.	 [2]


	 (b)	 (i) 	 Identify two injections from the data given. 	 [2]


		  (ii) 	 With reference to the circular flow of income model, explain how increasing injections 
might lead to a larger increase in national income.	 [4]


	 (c)	 Discuss whether roads are a good example of a public good.	 [8]


	 (d)	 Consider whether the use of road tolls or investment into public transport would be more 
effective at reducing traffic congestion in the UK. 	 [10]


	 (e)	  	  
  	


		  (ii) 	 To what extent will the removal of tolls on the Severn Crossings affect the level of 
consumption and private investment in Wales?	 [10]
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Q2 (d) Discuss whether a Keynesian approach to fiscal policy will be 
beneficial for the UK economy. [12] 


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 4 marks 4 marks 


 


Good 
understanding 
of Keynesian 
approach to 
fiscal policy? 


Has the 
answer been 


set in the 
context of the 


UK? 


Does the 
candidate 


explain how a 
Keynesian 


approach to 
fiscal policy will 
be beneficial for 


the UK 
economy? 


Has economic 
theory been used to 


evaluate the 
arguments made in 


AO3? 


2 


2 marks 
Good 
understanding 
 
May be explicit 
or implicit. 


2 marks 
Good use of 
the data or 
own 
knowledge 


3-4 marks 
Good analysis 
 
Candidate fully 
explains how a 
Keynesian 
policy will be 
beneficial for 
the economy 
(i.e. at least two 
macro-
objectives) 
 
 


3-4 marks 
Good evaluation 
 
Clear, well-reasoned 
and balanced 
evaluation that 
counters the claims 
made in AO3 
successfully 
 
More than one 
evaluative point is 
NOT absolutely 
necessary for top 
band AO4 but a 
range of points 
should certainly be 
credited where 
appropriate 


1 


1 mark 
Limited 
understanding 


1 mark 
Limited use of 
the data or 
own 
knowledge 


1-2 marks 
Limited analysis 


1-2 marks 
Limited evaluation 
 
Throwaway remarks 
without development 
should not be 
credited 


0 


0 marks 
No 
understanding 
or incorrect 
understanding 


0 marks 
No context to 
the answer 


0 marks 
No or incorrect 
analysis 


0 marks 
No evaluation 
offered 
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THIS IS A REVERSIBLE ANSWER 
 
Indicative content: 
 
AO1  
 
Using public spending to stimulate economic activity has been a key option for successive 
governments since the 1930s when British economist, John Maynard Keynes, argued that 
public spending should be increased when private spending and investment were 
inadequate.  In other words, G increase and/or T decrease. 
 
AO3 
 
Using Keynesian fiscal policy should shift AD to the right.  This should lead to economic 
growth (as more output is demanded) and a reduction in unemployment (as more labour is 
employed in order to make the increase in output). 
 
Keynesian policies should not have an inflationary effect if the economy currently has a large 
output gap.  In the UK, despite low unemployment figures, there is still a large output gap 
and so demand-side inflationary pressure is unlikely. 
 
If the government has a strong credit rating (as the UK does!) then borrowing for 
expansionary purposes now is a relatively good option.  Similarly, interest rates and bond 
yields are currently very low so, again, this is a good time to borrow. 
 
There is NO requirement for a diagram but it should be credited if drawn (correctly). 
 
AO4 
 
Keynesian policies are often criticised because they lead to the accumulation of public debt.  
Increasing G and decreasing T will lead to a budget deficit and, over the years, this will 
accumulate into lots of debt.  The UK currently had a public debt >85% GDP.  Arguably, this 
is not the time to be piling on more debt. 
 
The UK currently has a very low rate of unemployment and therefore the need for Keynesian 
policies is less. 
 
Keynesian policies may lead to high levels of demand-pull inflation if there is not an 
adequate increase in capacity to match the increase in demand.  The UK is currently 
suffering from a high level of inflation. 
 
Inflationary pressures may also have an effect on the competitiveness of exports and so the 
trade balance is likely to worsen if this becomes a problem. 
 
SS effects not credited. 
Contractionary demand-side will be credited. 
 
  












Q2(d)  


 


 



Sticky Note

This answer scores 9.

The candidate has a clear understanding of Keynesian policies and focuses on the demand-side impact on the economy.  The explanation is good but there are signs of confusion - for example, subsidies could be considered supply-side rather than demand-side policies; explaining current spending through work incentives is, again, more supply-side than demand-side.  Therefore, the answer scores good but not excellent for analysis.

The evaluation is very strong.  The candidate explores two main lines of enquiry: the trade-o0ff with inflation and the trade-off with public debt.  In both cases, the issues are well developed.  The final paragraph also offers a further evaluative point, which is more nuanced ("it depends on the level of spending" and also "the scale of the multiplier effect").

Since this is a reversible question the candidate scores AO4-5 and AO1/3-3; in other words, top band for each but just missing out on the full marks.

The application is limited.  Most of the evaluative points are generic (for instance, the data says exactly how much spending there will be) but there are some mild references to the fact that GDP is fluctuating and that public sector wages are due an increase.  This is all true but it is not a good standard.  [AO2-1]
















Q2(d)  


 


 


 



Sticky Note

This answer scores 7.

The candidate has a clear understanding of Keynesian policies and focuses on the demand-side impact on the economy.  The analysis focuses heavily on just one macro-objective: employment.  The range, therefore, could be considered somewhat limited.  Although the quality of the analysis is good, the small range of analysis holds this mark back.

In terms of evaluation, the candidate again explores one main line of enquiry (albeit from two different perspectives): the trade-off of public debt.  However, there are other elements of evaluation in the answers such as reference to the capital intensity of the Keynesian policies ("which may not lead to so much employment") and a nod to the beneficial effects of certain policies on the workforce.  There is also some assertion about demand-pull inflation (noted but not worth much) and the balance of payments (which is incorrect).  The answer would be improved if these areas could have been developed more.  That said, this answer was considered to be a good evaluation.

The candidate scores AO4-4 and AO1/3-3.  There is no application; most of the points are generic and so there are no AO2 marks to be added.
















Q2(d)  


 


 



Sticky Note

This answer scores 3.

The good thing about this answer is that it successfully explains why using Keynesian fiscal policies (in a contractionary sense) can decrease AD and lower the prices level during periods of high inflation.  There is a diagram at the end of the answer which shows that the candidate can illustrate the analysis diagramatically too.  The analysis, however, is generic and the links to subsidies, corporation tax and VAT (not the best examples of demand-side policies) shows that there is some confusion with the concept of Keynesian policies.  [AO1/3-3]

The attempted evaluation then focuses on the supply-side.  It is not an evaluation of Keynesian policies though; instead, it feels like a generic AD/AS evaluation which has no place in answering this specific question about the effectiveness of Keynesian policies.  [AO4-0]

There is no application.  [AO2-0]
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After the General Election of 2017, many members of the Government spoke publicly about 
the need to increase government spending. As a result, they began to put the Chancellor of 
the Exchequer, Phillip Hammond, under great pressure.  


Figure 1 UK Government Spending 2001-2016
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The Chancellor had been critical of such Keynesian expansionary policies in the past – 
arguing instead that reducing the public sector debt should be the government’s top priority.  
But even he would have found it hard to say no to all of these demands. Suggestions for new 
policies have included: 


Public sector pay increases


Until 2017, there had been a pay ceiling on the public sector. If the ceiling held until its 
planned end in 2020, public sector workers would be earning less in real terms than in 
2004/5, potentially causing labour shortage issues.


Potential cost: £3bn for each percentage point increase in public sector pay.


A pay ceiling (or pay cap) effectively sets a maximum wage below the equilibrium wage in 
the labour market.


Getting rid of higher education tuition fees


Critics of the Government suggested getting rid of higher education tuition fees. They argued 
that this could be funded by imposing a 45% income tax on those earning more than £80 000 
and a 50% tax on those earning more than £110 000.


Potential cost: £9bn.
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Spending more on healthcare


Spending on the NHS has been protected since 2010, meaning that healthcare has not 
suffered from the deep cuts that have affected other departments. Nevertheless, critics 
suggested that the Government should spend £22bn more than they had promised.


Potential cost: £9bn.
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Figure 3 UK Government Spending by sector, 2015/16


Debt interest - £36 billion
Other (including EU transactions) - £48 billion


Public order and safety - £34 billion


Housing and environment - £28 billion
Industry, agriculture and
employment - £24 billion


Defence - £45 billion


Education - £99 billion


Transport - £28 billion Health - £141 billion


Personal social
services - £30 billion


Social protection - £231 billion


(d) Discuss whether a Keynesian approach to fiscal policy will be beneficial for the UK 
economy.  [12]











